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MASTER OF BUSINESS ADMINISTRATION (FULL TIME) -_
SET A
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Time: 3 Ttours
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Instructivus to Candidates

1 Do not wilte your nome of put siy other innk of identilicition anywhere w the OMR Answer Shoee 10 ANY M ATUR OFF
IDENTIFICATIONS IS DISCOVERED ANYWHERE IN OMR ANSWER SHEET, the OMH sheet will be cancelled,
aml will not be evaluated. :

2. This Question Beuklet co sains th « cover page and a tatal ¢f 178 Multiple Chinice Questions of Tmark, Spaceyfur rowgh work
has been provided at the beginning and end. Availible space an each pae muay akso be wsed for rough work,

V.o Each coregt inswer eaeries one mark, )

.

There is negative murkitg (or Multiple Chaice Questions. Fur cich wiang aiwaver, 0,25 marks will e dedicted.
5. USEOF CALCULATOR IS NOT PERMITTED.

USE/PCSSESSION OF ELEC fRONIC GADGETS LIKE MOBILE PHONE, iPhong, if*ad, pager ETC, is not permitted.

Carlid:te should check the serial order of questons at the beginuing of the est. I any question is found missiog

inthe scrial
order, it should be inmedistely brovght fo the notice of 1he Tnvigilator. No pages should be torm out fron this question booklet
8. Answers must be oarked in the OMR answer s

r heet which is pravided separately. OMR answer sheet must be handed over to
the mvizilator belore yor leave the scat.

The OMR anzwer sheet shauld not be Tolded or wrinkled. The folded or weinkled OM R/ Answer Sheet will nat be
10.

Write your Roll Number in the appropriate space (ubove) and on the OMR Answer Shect. Any

evalnated,
should be writien only in the space provided.

other details, i ashed {ur,
Ihere are Tour aliernative answus (o cacl qtmlibn marked A, B, C and D. Scleet one of
apprepriote and il up v corresponding ovalicirele in the OMR

the answers you consider tiost
filling vp the OMR Answer Sheet is mentioned be'ow,

Answer Sheel provided 1o you. Ihe comect procedure for
12. Usc Black or Bluc Balt Pen only for fidling the ovals'cireles in QMR Answer Sheet wiijle

Choice of answers darken the correct ovalfeircle completely. Ifihe comrect answer is 'R

amswering the Questions. I'or your
e campletely fill and dackened as shiown below.

. the comresponding oval/circle shoukl

—
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following docs the cxpression (2°+ 2 "y divided by 2" - 2 ) equal?

§. Whichenc of the 1
.hi- ] - “L“‘ '1'{1:
B. 0. X l_{_,{ vy
> 3R e A -
%' 5 A, ) o8 -

K

3. .
p=q+ T, then which one of the fallowing could he the value of m?
A 53 _
B. 45
C. 85
D. 72 y
4. a. b, c,d, and ¢ arc live conseculive inteaers in increasing order of size. Which one ol the following
expressinns is not odd? i '
A. ah+d - | S
B, actc - oo K
(. ab+te W LA
D. actd ¥ A
[ L
. . -
5. Which onc of the following could be an integer? =
A. Average of four consecutive intepers. Yo . 6’"‘ '
B. Average of six consccutive integers. e
C. Average of three consccutive integers.
0. Avcrage of wo consecntive mlegers.
6. I p and ¢ orc hoth positive tutegers such that p/9 + ¢/10 is also an imeger. then which one of the
lollowing numbers could p cqual?
A9
B. 4
C.3
N. 11
7. Wihe probz‘ﬂ?iiity that Mi}:c will miss at least one of the ten jobs assigned to him is 0.55, then what is
the probability that he will do all ten jobs?
A. 0] .
B, 085
r €045
D. 0.55
Ms5s - SET A ENTRARCE EXAMINATION-2007

If 42.42 = k(14 miS0), where k and m are

SRl

"Yhe number m yictds o remainder p

pusitive integers and mr < 50, then what is the value ol

H ? .1 \& L\H 5 ,‘_\L\

ue 50
10 .
’ [ oo v \ "'L
6 S — -
t} f~,“- O

when divided by 14 and a remainder g when divided by 7.0
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4 Ay
1
I ) - (the average of six CONSCCULVE inteyer,
8. (The averge of five consceutive inepers starling from #
starting from ny) =

s A D -
_ B, 12 %
C. -2 9
1. -4 o
)
-

9. Deline x* by the ecquation v* - afx, Then ((-)9)* -

A iw
B, -1/=n
C. -n
i =

Y
M . . - : . . ol X
10. |f.t' A dis udd. then which one ol the |U”l‘l'|""lnj', LOUId bhe the v M ol

A9
3. 16
C. s
D. 13

At If(u P 2= ) - A) = Dand a > 0then e =

2
B ]
C. 4
D..3
12. 1n a country, 60% of the male citizen and 70% of the female citizen are cligible to vote. 70% of malc

citizens eligible 10 vole voied, and 60% of female citizens eligible 1o votc voled. What rrm.lron of
the citizens voled during the election?

A. 0.48 é MLﬁ;}a
;3. 042

C. 0.54 .
D. 0.49 2

™

13. A precious stone was accidentallysdropped and broke into 3 stoncs of equal weight. The value of this

typc of stonc is always propurtional to the square ofits weight. The 3 broken stones together arc
worth how much of the value of the original stone?

Aol
B. 19 v~
C. 13
D.3

14. ow many posilive inlcgers Jess than 500 can bé formed using the numbers 1, 2, 3 and 5 for the
Jigits?

- A 66
B. 68
C. $2
D. 84

MSS SET A ENTRANCE EXAMINATION2017
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i o _ - | . )
| oy 1, thea which onc of the Tollowing 15 the maxmum value ol (x 1) Y X~
S LA
]
: AL D
o 3. -l
2
2 .1
© 16, Hose A can fill & tank m 5 minuies and Hose B can il the same tank in 6 minutes. How many tanks
| % (R3S . " '. -. by l .
. @ would Hose 13 (i in the time Hose A fills 6 1anks?
© A 35
-~ B. 4
] C. 5
o . 6
a 17, There are 87 balls in a jar. Kach ballis painted with al feast onc of (WO l.:('l-‘llll-':i: t;:d _url gr;c;ll l:i-pl;
abserved that 27 of the balls that have red color also have grccnrcu'tur,‘wlmc 317 of '.11;.' alls the
[ have ereen color also have ved color. What feaction of the balls the jar has both red and wreen
i colors? _
I
e S
i M. G'r:i'f' :E' K__‘_?_'l 3
- 13, 06/29 : 9 .
' C. 6/14
1), 642
Ha : - e . . 3 o
.i v 18, Which orie of the following is the first nuinber greater than 200 that 153 multiple of both 6 und 87
- A 216 v 7
; 3. 212 ' @
C. 208 -
D, 224
; §9. The sum of 1o numbers is 13, and thei product s 10. What is the sum of the sguares of the wo
‘ numbers? '
A. 139 (€1 L gau = o
3. 109 Q v = 1
| . =109 \
; - vy
l g N, 229 . 8
f . .
J ) 20. 1 @, b, and ¢ arc not equal to 0 or 1 and if o'= b, 1" = ¢, and ¢'= a, then xyz =
i
* A2
i ) 3. a
S ) C. abc . '
j b, |
)
[ ) -
B -
r
E -
MSS L1 i &4 -
SET A ENTRANCE EXAMINATION-2007
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21. In a zoo, the ratio of the number ol cheetahs
years ogo. I the increase in the nuinber of cheeld
inercase in the number of pandas?

22. The average ages of the plavers on leam A
average age of the plavers on the weams togc

ow>

—
L=

5
3
2
i

]

¢]

e e 1o 3 amd was the same g
10 the number ol panaas ERERE e ¢ fiy,,
b in the 700 ginee then s 2 hen wang g the

. vy ' - - 3
) Y 9

gt L
8

wd team B oare 20 and 3 vears. respecinvely, The 9 \
H i ' “ - . - . .
her s 26, 1 the toak number ol players an The o«

. o o ol nlavers zam A7
teams is 100, then which one of the following is the number of players on leam
A. 50 661 ° o
B. 20 c : ,
C. 40 P QoetiZo ‘
G0

1.

23. If xfa = 4, aly -6, 6" =9, and ab’ - =8, then v 1+ 2y

A. =13 ! =

3. -10 .

. -5

12. 15 “ . "

. 7

24. The number 3 divides ¢ with a result of & and o remainder of 2, The nombee 3 divides b with a resplt

of 2 and a remainder of 1. What is the value ol « 7

AL 21 :

B 23 :

cC. 17

D, 27 U
25. A group ol 30 employces ol Cadre A has 2 mean age of 27, =

Cadre B has a mean age of 23, What is the me

A
3.
C.
.

23

24.2 7
26.8

25

A dilferent group of 70 cmployees of
an age of the employees of the two groups together?

Jox2F + Fox 22
—RZ2?

26. The rematnder when the positive integer m is divided by 7 is x. The remainder whea nr is divided )
byl4 is x + 7. Which ane of the following could m equal?

4
n

SEY-F

. 45

72
53
85

gig 1

SET A ENTRANCE EXAMINATION-2017
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18, The fist prive of o commudity is the price

iier a 20% discount on the retail price. The festival
discount on the list price, Customers

- T g
L the commadity is the price aller o 0% price. Cu
ot is the elfective discount Hffered

dixcouni price . :
a festival discount price, Wh

purchase commuditics from stores al
Dy the stores on the commodity on its retail price? '
| toe*2e - Hox
AL-S0% L

B, 20%

O A%

D. 0%

2911 p isthe sum of g and r, then which one of the Tolluwing must equal ¢ =7

.
- 4
Acptr
8. p-2r CV:?:( Q-*
Cop-r -
1 p2r

0% of them preterred Brand A, Another supvey

30. A swvey'of # peaple in the town ol Eros found that 5
£3% of all the

of 100 people i the town ol Angie found that 60% preferred Brand A. In 1ot
people surveyed together prefereed Brond A. What is the total number of people surveyed?

A 150 .

3. 200 - %E_f!:p" - e

o100 _ . by T

i 250 ' : .
58—

31. 3/8 of a number is what fraction ol 2 times the number?

! 2px $Y . Yo
A. 38 Ire
il 1n
C. dlg

D, 3/16

*Q\h: \P'

7
.. e etery by Y.
17, Kate ot 13 af 3 cake. Fritz ate 1/2 of the remawing cake, and what was left was catent by fntiy
" The fraction of the cake vaten by Emily equals
0.

A 25 1—-1- Zxd ~¢ 6L

;3. Luz . ] 17 - G %a-;?

C.o - >

. - _ !l_-:l

32. ;":npiliccrof string 35 i::u:hcs: long is.r.;ul into three smaller pieces alo'ng the length of the siring. The
ength of the longest picee is three times the length of the shortest picce. Which one of the following

could equal the length of the medinm-size piece?

A7 gf}\.‘t"?‘(_

C. 10

!). 16 z\f_lj ¥
e . ' e 1o
Mss

B. 20 - 551 L 5

L

SETA ENTRANCE EXAMINATION-I017
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T T reraue speed of 63 mph. The
avele oWy own A to Town [3 at an averaze =} he Gy
33. A car traveled 65% of the way I'rc:mr lﬁr D aaiming part of the (rip. Fhe averaee specd for o
1.fil\:'l.:'|<.'dlal an average z;p-:r:cd :JI' v mp 1 I-.IJ ¢ ,
entirc trip was 50 mph. What s v inmph: v
P
A ,1-_ = 8 - GE:I__E}-J - @é g:l <!
B, 45 - 2 _ 8

C. 50 g\
D. 40
s . Rl il win the
34. The probability that Tom will win the Booker prize is 0.3, "md’ the .pmh.:h;lnl:- :!.T.l h;:]: ‘.::l: “‘:‘”:L 8 \
Booker prive is 0.4. There is only one Booker prize to win. What is the probabnty THEt i et Eie - a

of them wins the prize?

A. 07 o :
B. 0.4 A
C. 0.9~ ' '
D. 0.8 : <

Answer questions 35-38 on the basis of the informuation given below

Five Companies A, 13, C. 1) nnd E saw growth rates ranging from 10% to 30% in the year 2015, The
company A with the least cevenues of Rs, 600 crores in 2015 saw the maximum growth rate of S0% and
the Company 1 with the highest revenue saw the Teast growth rate of 10%. Company I3's eevenues in
2016 was cqual o that of Compony "D in 2015, while Compimy C’s 2016 revenue wis aqual W that of _
Company 3's in 2015, Company A’s 2016 revenue was equial o that of Comipany 12 in 2015, - 3

John. an accountant observes that one of the companics has rwice the growth rate of another. Muathew.
his colleague corrects him and says that this is the case in two dJilTerent instances,

Company L has a revenue.cqual to the average secn in C'mnp;my Aand D
average growth rale of Aand D https://www. jamiastudy.com

yplic-speak mentionied that if company C had wrown at the
ave reached the revenues scen by Company B in 201 6.

» and growth rate equal 10 the

Ram. koawn [or his ¢r

Ain 2015 would h rate scen by company S

35. Which company had the third highest geowth ratr-:'? 2

AR oo
BB
C. C
D. D

A ———

i
i

36. In absolute temms, which company added the maximum revenue in 20167

A3 Ve
) B. ¢

C. A

D. D

a7, “’II'II.:“ is the overall average growth rate seen by all § ccm;mnics put together?
AL 23.5% .
B. 28.5%
- C. 24.2%
P 27%
MS3 SET A

.

ENTRANCE EXAMINATION. 2017
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4 38. which company hadl the medipn revente m 20467
. A B
g |’ 7] B3. B
! C. A - -
[ 2 n ¢ i
@ Answer questions 39-41 un the
@
l'otal revenucs ave Rs. 1800 erares. €
e has the lcast prnﬁ margin but not the
E (5] pihers penerates the least
Company. Company 1) gencrales niore
: Revenues
o d
39. What was the profit margin for company 13?
i
3 A, 12.33%
B, 14.11%
: C. 8.33%
. D. 12.5%
{ : 40. How much profit did company L make?

I ‘A, Rs. 35 Crores

. B. Rs. 40 Crores
| C. Rs. 50 Crores
{ D. Rs. 60 Crores

)
) 41. How much profit did Company A make?
) A. Rs. 30 Crores
i) 3. Rs. 50 Crores
1 C. Rs. 25 Crores
| } D. Rs. 60 Crores
: ! -5 *
i
' M3s5

\ ,!. g {Lg -'|‘> \

Yerall prolit margin is 10%. The divi
least prafits. The Jiviston with the

prohit. Exactly onc division has 1he s

SET A

"jtr M}lf\ i
Yo tiph
oo M,bh_i, 2o}
- 65>

husis nf the information given helow

sion with 1he | Ireest revenue

profit margin higher than qtl

une profit margin as the overal!

peofits than Company I

Profits

';5) W 3 1-(.

| 8o xﬁ; . t&‘;@:)ﬂ\&o 2o
Y< /
ARNET

H5e 180 cyore

‘le
/!6/7!% 1L

| 9938
9 ¢1% ? S .

ﬁfﬁ 944 Py - 20

5 S)mc

FNIRANCE EXAMINATION-2017
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Answer quesfions 42-45 on the basis of the infurmatiott givent
¢ five states, P L. R S and Ton
The tollowing table gives the pereentage distribution ol p-::-pu!:llmrl o |
' SCX. - 8,
the basis of poveriy line and also on the basis of :I:mponinu oy 1“1L> md [ emalcs l . a
‘ i i  poverty |Above Poverty | 9
Percentage of Population below the Poverly Bclow Poverty | 4 .
State \] ine L.ine A | -]
L_| . ®
L I — |
\L 35 5 : R A
- ——
Q 'Zﬁ ' . :_' _ -
R |24 2 12:3 |
s |19 B 3:2 |4 :3 E
15 . 515 [3:2 ]
42, What will be the number of females above the poverty line in the State S if it is known that the
population of Staic S is 7 million?
AL 5.7 million S pna?hn'l“ ) ,'/—,.5 -
13, 3 million _ Tiep 0 9660 ? L _
C. 243 million ’ o 00 P2 . Y.
D. 133 million S : ,;«’f’(;"“ - e 7 VU g0
. - . ). ;’
43.11 the population of males below poverty line for State Q is 2.4 million and that for State T is 6
million, thea the total populations of States 0 and T are: in the ratio? —
A 37
1, 123 P
C. 25 .
D. 4:9 L

44. If the inale population above paverty line I : — ;
" iS; le pop ‘ poverty line for State R is 1.9 million, then the total population of Siatc i
A, 5.35 million
B. 6.25million : . .
C. 4.85million . -
D. 4.5 million _;
45. What will be the male population above pov IS
poverty line for State P 1-5 "p] million? poverty fine for .Stalc P ilthe Temale populution below ?2

3.3 million
2.3 million
2.1 million
2.7 million .- k

oo

MSS SET A ENTRANCE EXAMINATION-2017 i
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{swer guestions 46-48 on the basis of the information given below

p :

‘he following graphs blVC the revenues and erowth rates of 4 divisions of Garba

pany that specializes in waste management:
Ravenue grawth {yov)

com
- 120%-

pevenyss [in Rupees Crores)

200

sl e W0 2011 200 2013 QUS ULy 7003 20¢3 2010 01 Y 103
“leather wwPaper . Fhatos =Tedwidogy ' wlgaiher ~-Faper

46. In the year 2013, what was the sharc of revenues of the division Pharma?

14

cempingrpg e beehr gy

W15

‘1

e

age nc, an interesung

"s ;,c, \J$

AL 389
B, 2% v
C. IT%
D. 19%
47. The profit margins by division in the years 2014 ard 2015 are piven in the table hetow. Find the yo)
percentage arowvlh in pmﬁls in 2015. .
\
. 2.5
Profit Margin - 2014 * - 2015 PO
. O
B % \
X A
1S 0
LS ©
2
lf
Iecﬁnalagy
AL -0%
B. 0%
. -3%
D, 2.4%
48. Whal was the totat revenue in 20117
. A. Rs. 680 Crorcs )
4. Rx. G40 Crores
C. Rs. 725 Crores..~
1), Rs. 760 Crores
NS5 '
SET A

https:ffwww.jamiastudy.cc:n%canned with CamScanner
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iven below

Answer questionrs 49-53 on the basis of the informafion g
' ar 19Y8

) . i cye
D.‘]lﬂ 0,— Lﬁrrcrfnl SI.EHEb mgardlng Popu]ﬂ!lun Dfﬂ«"ilCS n lh o

"

. En' u'p . N - -—
1

Total population of the given States = 3276000.

Sex and [iteracy wise Population Ratio
States Sex Lileracy L
M N F Ii:cratc - Ihiterate
AP 5 2. 13"
M.P ] | i 4
l . Delhi 2 3 2 |
|Goa 3 5|3 2
'Bihar |3 4 |a ¥
) u.p. 3 2 |7 2
. %N 3 4 9 4

49. What was the 10tal number of illiterate people in AP,

AL 932170
B.. 1161160~
C.' 876040
D.. 981550

and M.P. in 19982 °

50. What was the number of males in ()P, in the year 19987

A. 254650 i

B. 341200 -

C. 294840, ‘2

D, 321470 &
SLIf in the year 1998, there was an increase of 10% in the population of U.P. and 12% in the

popuiation of M.I'. compared 10 (he previous year, then what was the ratio of populations of U.P,

and M.P. in 19977

A. 48 : 35 : ' O
= B. 4.5

C. 42 : 55 )

D. 7:11 3

SET A FNTRANCE EXAMINATION-2017 -7
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o o

15

al number ot males i P M, and <

I

) toegther W0 the ol

57 What will be the pcrc-cnl‘.!-y,c ”fllm
- hﬁpuluiinn of all the grven states? 110 .
3T
A, 28.5% ,ig_gaj_‘ﬂg‘fg B
B. 27.5% - - ~rematt 87
v gy - - - A-‘r”r’: 0@
- C. 25% ___';}—ﬂ: I3 .
y D. 3.5% - _LEEDE
53. What is the ratio of the number of females in TN to the number ol females Deti? .
29 4840
A. 9:7 q <L
2. - Y16
- B 15:14 (?m,oﬁt}”_s-
C. 7:5 d ) 8 '*CEI
D, 131l D Yo ¥
’ Answer questions 54-58 on the basis of the infurmation given helow lg —‘} q\"'l % - 42 ‘}:‘91
. e emnloyee TGN B
The following, table shows the number-of new employces added to different catcporics of cmployCesile
a company and also the number of crployees from these categories who lelt the company every Year
since the foundation of the Company in 1995,
: A — e —— | — e e e e —— 1 = 1
= Year  |Manapers l".'cchnici;ms l{){mr'nlors Accountants Peons |
PR B [T (X New [LeR |New el
4 v Zo s 6o |- Heo |- |-
.-)E-\T} (DU PR . - e U
| 1996|280 |120 o1 lao0 oo jiss . |50
_i - Hi9gr 179 {02 . {200 224 104" |152- |88
oo [1as & oo (28 (96 [196- |80 &
3 Wr}fw 160 |72 p12 1272 \ss 224 - | 120 =3e
2R - — = - 1
e [2000 [193 Joe [ Mar f2e0 (o2 |200 104 | Y
R o e e R T e : - T Q
! %:’ e 2 @4 SUD uge VI G 9
i 44, :I-"r'h:ti was (he total number of Peons working inthe Company in the year 19997
, 97 {14
| A. 968 128"
| 7T YR ¢ B k1) '
foad o Coone s
2T D. 1088
55. W]:l+.‘ o avernnee ) . .y . . . s
ll ) v ! r»ll?I’:\;‘:Spnolg,d weripe of the total number of employees ol all categories in the year 19977
) B. 1265
P C. 1195
i J D. 1325
X J 56. During the period between 1993 and 2000, the total number of Opecat
; Al peree " . - o e . cators w )t
) what percent of 10tal number of Operators whio joined the Cmnpnnyp; who lefl the Co:?any is
A, 21% ® /-,gé_c'
J .. B 2Wye < T xl&‘}s
‘ D. 2% Sek
MsS .
: SET A T T
Wt ENTRANCE EXAMINATION-2017
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g
LS,

4
[
|

Techmiciuns
) ) 2 Technicis
57. What 15 the ditference between the total m.mhﬁJ ‘ inp the years
. . : g Jh
number of Accoumants added to the Company during

cdded 1o the Company and the 1o,
7‘996 10 20007

AL 2 - . -
B, 88

C. 128

n. 206

- [‘ll Cmpl(\)’ﬂl’.‘\ '-\'('lkllng
v n the mlﬂ'lbcl'
53< For \'nhi’-:l'l Ur:lll! I'n'l'Lcm,-'m!‘ ca'crnric:; [hc I’)cf-ccnlﬂgb INCreasc s

H - ‘?
v the Company from 1995 10 2000 was the maximum?

yo0o 0@ P~
//

AL Techuivians :
B. Accountants : T
C Managers »
13, Operators ’
Answer questions 59.63 on the basis of the information given below . Aoril 2001
B55] fnng r -
In 2 sthool the periadical examinations are held every sccond month. Inl 2 hbss‘_mjr;‘]: ;‘.n}_;:;:rcfalc marks
March 2002, 3 siudemt of Class X appaured for cach F‘F the pcr:odru c_xam;.bmw gpree
ubtained by hitn in each periedical exam are represented in [h::‘hl"ll.-'-'gmﬂh g:vc;l . Z, the Year in the
Murks Obtained by stucent in Siv Periodical Exam Held in Every Two Months D iy -l
Session 2001 - 2002, o —
Maximm Toral Marks in cach Periodical Exam = 500 R
_ R 405 ... .
410 ] 400
100 1 ' S - )
190 | 285 : '
., 380 i 170 e e . \ Q‘F
2 ' | “’%}ﬁ :
380 , Co ﬁ' 3
' _ . . :
3sn V1
! -
340 :
-~
Jaﬂ Sremmm e e S —— T———y — e T ——— T
_np1nl Jun-01 Aug-01 Oct-01 Dec-01 Feb.0?
H Perindieal ¢ MO ¥ 3
59, 'I‘Jw_llgl::: number of marks obtuined in Feb, 02 is what pereent of the toud marks obtained in N
Aprl 017 =
Ao 116.5% 9
B. o
C.  1125% D
D. 115% . 5
o1, Wh:ft ur;e the average marks obtained by the student in ull the periodicnl exams during the last @
session Y _
) Q
A 379, .
B, k1 R J
C. 37 Y
D. J4s .
M35

HF‘{"' A t-;Nl'll.\Nl'i-‘_ XA '\“N-“-'"}Nq“['j

Y

' anner
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4ich perivdical exams there is o fall in pereent

o Lﬂcr;;dical exams? age of marks as compared Lo the previous
. June, 01
B. ¥eb, 02
o MNone v . .
D. Qct, 01

(2. 1n u‘lut'l‘l PQI‘_"d‘"- il '33“'“? did the student obtain the highest pereentage increase in marks over the
previous pesiodical exams?

=

A. | August, 01~
B. Oct,
C. June, 01

D. [Dec, Ol

3. What is the percentage of macks obtained by the student in the periadical exams of August, 01 and
Oct, 01 1aken together? o

& =

A. 78.75%
B. 77%
. ?5.31’-}‘/1
n. 73.25%
, : : S {-
Answer guesfions 64-G8 vrr the basis ofthe information given below - gv} 1.0"(’1
. )5
Percentage Composition of Human Hody kA
Mitsrlas oo ) )
3 2 LY
Sen \o
Tt . - Skin L 3} %..b L — .L
: Bg}!;s o cr o
| (b ! L
2 R U S
Sk e L
‘1}(0
. . (s 0 §e - %
2o 1S, - 3RS
(yg '
Swsesng o,
24 120800 | 4 g5 5\&e
. . ] mY
&4. What will be the quantity of water in the body of o petson’ weighing 50 kg? 7 "—n—c;
Al '12‘5 kg
3. A1 kg 4.
C. 35 Lg - Y0
.. 20kg - 1§y -
o 733
M55 SET A ENTRANCE EXAAMHNATION-2017
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65.

66.

67,

§

(=4

69,

M35

16 \

lemments in the human hody, the are of T
or dry clements S
To show the distribution of proteins and other &ry <i¢

wlhe dustr

. & . _1IC [‘11‘.
should subtend at the centre an ant

A }26‘\/ . *

N

. \
B. 108 - !
C. 54°
D, 252"

. Sher Bones nor skin? 9
In the human bady, what part is made of neither bone .
A, Nane of these
1. 3/R0
. i/40
D. 215 )

. . wrnl : roteins in skin in

What percent of the wtal weizht of human body is equivalent to the weight of the p
human body?. '
A Data inadequate
8. 0.016
C. 6.
D. )6 7

« What is the rutio of the diswribution of prolcinsl il the muscles 1o that ot the distribution of protcins in
the bopes? '
A, | -2
B. 211
C. 1:18
D. 181

A program insthuted in a particular state allows parents to prepay their children's future college
'ition at curremt eates. The program then pays the tuitibn annually for the child at any of the stale's
Public collepes in which the child encolls, Parents sholild partieipate in the Program as a incans of
dCCfcnsing the cost for their children's college cducuti(:‘p_

Which of the following, if true. is the most

appropriate reason for parenis N
the program?

OT 1o participaie in
+ The annual cost of wition at the state’s public colle
the annwal increase in the cost of living,
B." the parents are unsure about which public college in the state the child w
C. The amount of money accumulated b
Account today will be greater than the
child enrolls, —

Some of the state's publie colleges are contenplating large increases in twition next year,

8¢s is expected to increase at o faster rate than

: il attend,
¥ putting the prepayment funds in an interest-bearing

total cost of tition for any of the public colleges when the

SET A ENTRANCE r;x,-.mmxrmmol?
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sut childre?

eis 739 years, b
{a

ion as a whol

i

! 20, The average lite cx_pccgancy for the United States populat as  wh 3.9 YA ars.
[ bom in fawaii will live an EJv::ragc of 77 years, n_ml lhc_-su .hnm in ‘i_,oumarrm. h‘?r cfhlildrt'n
I newlywed couple from Lowsiand were fo begin their .i'mmly i Hawaii, 1hcrlc ore, 1nel
f would be expecicd to live longer than would be the case il the family rematned in 'l:t\LJlSIﬂl'l-‘- e
e which of the following, if truc, would most scriously weaken the conclusion drawd 17 s

passage?
allegud that statistics for his stat
population 1s attributable

mor of Louisiana has (alscly ¢ are inuccurie. .
mostly 10 peneticaily

A, The gove
sed to TTawal's currcnt

i
b
b B The longevily aserit
[ determined foctors. b -
=) C. Insurance company std at moving 1o Hawan will significantly fengthen
N the average Louisianan's lifc.

D. Thirty percent of ull Lovisiunans

tisticians do not helieve th
can expect 1o Jive longer than 77 years.

coupons by Brave
le who pay less lor
esults

le who are awarded the
sold o peop

hu buys I'rcc-i-raw:l coupons from peuop
I'his making of coupons ©

frequently on Bravo atplancs. The coupons are
purchasing tickets from Bravo.

71. Company Alp
Airlines for Qlying
the coupons than they would pay by
10 lost revenue for Bravo,

To diccourage the buying an

" 1o restriet the

ns can be used afier they are issued > \

d to Monday through Friday

ravel coupons. it would be best for Bravo Airhines

d sclling of [ree

A. amount of time that the coupo

= . B. days that the coupons can be use
) ¢. usc of the coupons 10 those who were awardel the coupons and members of their immediate
nnilies o -

-
l I'- oW nulmbcr of coupons that a person can be awarded in a particnlar ycar

72, Insurance Campuny X is considering issuing a new policy o cover services required by clderly
* peaple who cutfer from diseases that afliet the elderly. Premiums Tor the policy must below enough
to ottt customers. Therefore, Tompany ¥ is coneerned that the mcome from the policies would

o pay for the claiims thal would be made.

ot be sulficient t
most Hikely 1

Which ol the Tulluwing stegies would be o minimize Company X's losses on the

,_-" palicies”

I ]’;"- :”5_"”"“&‘» only ”lml'? imljvfduuls who did not ‘sul‘ﬁ:r any serious discases as childeen

2 [_' i{mi”";':’- "’”3_’ those “_“"""d“iﬂs who were rejected by other companies Tor sisilar policies

] b IH:,I;LII;:::‘LT’::}L{:::|1;[:(|,:j(fl] tiu‘s‘mrlr_'.?r‘s. 1!|T1ik-:'ly m‘suh;_nil claims for benelits fn-r :nn‘n\}yc::;h

t o g greater number of services in the policy than are included in other {h\liri-w— of Towe
s, -t (M}

73. Wi:ilch of the Tollowing best completes the passage below?
n a survey of job applicants, two-filih i F
] ants, two-fitths admitted (o being at | 1 i
r D app Icas, ) I 2 al least a little dis :
survey inay underestimate the propostion of job uppliC:st who are dithn::.b‘:o;;m. oweer, fhe
s 251, beeause .

A. some pener: i
. ri) 'S :
H generally hounest people twking the survey might h i
Tishonst g ave clmmed on the survey Lo be
I3~ some people i
s sle who cliime » surve i .
C. some di::lllnucst Pcoplin:-'ii?rn illl.L-bur:,w m.b ¢ dishonest may have been answering |
D. some people who ulnimtl:{! ofth ey enel have claimed an he surve ‘o lm% i
¢ survey Lo be at least a linke dishonest nn)y L W:JCSI
ay be very dishonest

\b -

L

MSS
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] s 13,6 vears, but child
. . . a5 o whole s 73.5 3 dre
74. The average Iife expectancy for the United States prm;q_nln(r:\-f-‘“lmm in Louisiana, 7L7ycars, l':‘l
v ETawaii will live an averape of 77 years, and those b . DR
bora in Tlawaii will live an average of Y bv in Vawaii, therefore, their ehildre,
- “
3

. .. ¥ ir fanm
newlywed couple from )ovisiana were 1o begin their 1ar

the fanly cemained in Louistana,

- . . . ™ b4 :{C ir N
~ would be cxpeeted 1o live longer than would be the ca nhicantly steengthen the conclusion

. . . . 1 siv
Which of the following statements, it truge, would most Siz

drawn in the passage?

A. QOver the last decade, averape lile expectancy has 1
lmwvaltians
’ .. T T wi than 77 years.,
B. Tweaty-five percent of al) Louisianans wlio move 1o Hanwam |.\|"L.1HI'I!_,LI than Y
C. Eaviconmental factors tending to favar longevity are abundant i

lL.ouisiana bf : -
S - sures [ ate are likely to be
D). As popuiation density mcreascs in Hawaii, life expectancy figures for that stale ar - “ ;

revised downwaed.

iven at a higher rate Tor Louisianans than for o
=y

Fawaii and less numnceous in

75. To prevent some conflicts of interest, Congress could prohibit high-level government nfﬁt:::ul_«: from
accepting positions as lobbyists for three years afier such officials leave govemment service. One b
such official concluded, however, that such o prohibition would be unfortunate because it would ]
prm"cu[ high-level governinent oflicials from camning o livelihood tor three years, The olfcial’s .
conclusion logically depends on which of the following assumptions? X .

A

'OA Lobbyists are typically people who have previoosly been high-level government officials. o “y

B. High-level government officials who leave govemment scrvice are capable of caming a

livelihouod only as lohbyists. 3

C. Laws should not restricy the behavior of Tormer goverment vificials., g

D. Low-level government officials do not oflen become lobbyists when they leave government ‘)
wWivIce,

76. The lewer restrictions theee are on the advertising of lepal services. the more lawyuers there are who
advertise their services, and the Tawvers who advertise A specilie service usually charge less for 1l
sepvice than Tawyers wha Jo not aclvertise, Theetore, i the state rcaoves any ol ir:; cnr"l'c;lt
restrictions, such as the dne agaiost wdverlisements that de not specily fee arrangements. o i
consiner legad costs will he Tower i ilthe stare vetains jis <urrent rl..‘.'il.ri\_"li-:lln: : - v

I the statements in the passage are true, which of the tollinving must be lrm-:’l’

AL Some lawyers who now advertise will charge more for speciliv services if they do not have
specily fee arrangemcents in the advertisements. e

3. Mare consumers will use legal serviees i there are fewer sirictions on the advertisin ol le
service, . e

L I he restriction against adverlisemcents U eI T s o .
‘ 1, . ; ts that do nut xpecily e ATAngements is removed, mone

lwyers will advertise their services, o '

D. anore lawyers advertise lower prices lor specific segvices, some lawyers who do not advertise
will also charge less than they currently charge for those scervices,

o

gal

be U & o

71.The ice on the front windshicld of the car had forined wWhen oisture condensed during the night
The see mchied quickly aler the ear was warmed up the next moming beconse ihe delrosting w;nl.
which blows on the front windshicld, was tuemed on full toree. '
Which ol the lollowing, il truc, most seriowsly jeopardizes the validity of the explanation for the

speed with which the ice melted?

Al The wann air from Uie defrosting vent for the front windshicld cools rapidly as it dissipates
“2 throughout the restofthe car =
B. The side windows had no ice comndensation on them
(. Even thougl no attempt was muade to defrost the back window, the ice there melted at the same
vale o5 did the ice on the Gront winddshicld. .
M55 SET A ENTRANCE EXAMINATION.2017
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) e 0 wn on the
on o window melts inereascs 4s the temperature ol the awr blo

i p. The speed at which ice
: window INCreases o
g jons 1 ' : *an ; 1 destroyed forests i Siberia,
18. Metcorite explosions W the Eanh's aumosphere as large as the onc ot destroyed [ o5 oy, The
= " with appfl]*(il"l’l'.lld}‘ the foree of a (welve-megiton nucleac blast, oceur about oncc @ CCf X . s
' " syslems © : : W C > ams 0 UNCXp
' 5 - (eSPONSC ob=1Tahl Y automated sysiems controfled by complex compultes programs p
J circumsiances 1= unu.n:ahcmbic_ _ _ - N
) Which ol the following conchusions can most properly be drawn, il the .atal-..mcnqls aumct;[ r
i : Jdenr-missile delense S : ¢ complex cuompule
il o {rug, about a highly automated nuclear-missile defensc system controlled by @ p p
; mm?
N program?
@ it i i arred on the Farh's
A. The system wauld be destroyed At an explosion ol 2 Jarge meleonic oecurred M anh
'.11I1‘10'5[!h¢ﬂ.‘. v _ . : .
oston of a large metcorite would be, iM1S

at the system’s response 10 the expl

for such a contingency. - )
ion, the system would react inappropriatc]

! : B. Tt is nol ceriain wh

designers did not phan

. Within a cenury afier Ms construct
aceidentally start a nuchear war.

D. 1t would be impossible for the s
explosion of a nuclear weapon.

v and might

ysten Lo distinguish the cxplosion ol @ larye meteorite from the

e

rvices, the more lowyers there are who

ific service usually charge less for that
any of its current

verall

s there ore on the advertising of lcpal s¢
and the Jawycrs who advertise o spee
dvertise. ‘Vherefore, il the State removes
advertisements that do not specify fec arrangements, 0
an if the state relains ity eurrent restrictions.

ould most seriously weaken the argument concemning overall

79, The fower restriction
advenisc their services,
seevice than lawyers who do not
. restrictions, such as the onc against
b comsumet Jepar costs will be lower th
7 3 Which of the following, if trug, W
consuner Tegal cosis?

\

A The state is unlikely to panoyve a1l of the resteictions that apply solely 1o the advertisiny, of lepal

services,
1. Most knwyers whe sdvertise specilic services du not jower their Tees for those services when

5 they begin i advertise.
C. The state has recently femoved some other restrictions that had Limited the advertising ol lepal
SUTVICLS. - ) kl-.l
[ : D L.-m?c:s who do net advertise generally provide legal services of the same quality s thos
{ : pravided by lwycrs who du advertise. 7 paity s Those
' 0. A conservay i i \ [
. . servation proup i dhe United States is iy
| A ) States s try i e i
[riahtening creatores. The g ‘ rying 1o changd the long-standing image ol bats as
L p ereatures. The group contends that bats are feared ald persee s Hs
ald perscented solely because they are

= - - . . N e
> y y = - i:‘
W AHTHadS Dl Qe § v n 1 i 01 lhc 10“. WY j I L Lo | ¢cm Crid

|
P2 ~ doubt on the accuracy of the group’s ceatention?

A, U; [5 e HIL- L‘]li iy 3 E] ] [ ! r T

)
3 morepleasant lor humans.
B. Ruccoons ;
i s and owls are shy and active i
: H i ungy My »
) persecuied. iy at might; yet they are wot penerally feared and
C. Bats are steadi i o .
‘ : adily losing n: st -
) ‘ el \ g natural roosting places such as caves and
; o, ¥ to more developed areas for coosting. - aves and hollow trees and are thus
. Bats are reparded as frighiend e o |
oot B 5 fr_lghluung ceeatures not only in 1 ; >
: rich, and South Amurien. y m the United States bt also in- Curope
; - *.‘ ] ’
5
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82.

83.

84d.

20
A praposed ordinance requires the installation in new homes of sprinklers ;J.l.liu'-lrnhl‘-m]: ¢ '1‘}'-.'1"{(1 he
the presence of a fire. However, a home builder argued that because more than I'”f"_"} “* '1‘.:““ ‘I‘f
residential fires are extinguished by a houschold member, rcsulcr_ﬂu:l sprinklers -\"“\:l“'.; oniy
marginally decrease property domage caused by residential fires. Which of the following. 1 true,
would most seriously weaken the home builders argunment?

. . - . Gy - city. the acw ordinanee
N _‘”ﬂcc new hU'"H.'i are (.l"I:[' i 1In)r [K‘I’UC"[“E:Q ur;".r;llliihll. I'l{".l:h'lll_lj. m Jf'll._. Cll}. th

would be extremely nurrow in scope _ .
B The largest proportion of property damage that results from restdential
that start when no houschold member is preseot.

C. mostindividuals have no farmal training in how to extinguish hres. , o
D. The installation of smalke detectors in new residences costs significantly less than the nstailaton

fires is caused by fires

of sprinklers.

If there is an oil-supply disruption resulting in higher intemational oil prices, domestic ail prices in
open-market countries such as the United States will rise as well, whether such countries import _"”
or none of their oil. If the statement in the passage concerning oil-supply disruptions 15 lruc. w?r:t{}r
ol the following policies in an open-market nation is most likely to reduce the long-tenn coenomie
impact on that nation of sharp and unexpected inercases in intermational oil prices?

A. Decreasing oil cansumption through conscrvation

B. Increasing the number of oil tankers in its fleel

C. Maintaining the quantily of oil ilnported i constant yearly levels ~
3. Suspending diplomatic relations with inajor oil-producing nations

Opponents of laws ihat require automobilesdrivers and passenpers to wear seat belts argoe thatin o
free society people have the right o 1ake risks as long as the people do not haem other as a resalt ol
Toking the risks. As a resalt, they conclude that it should be cach person’™s decision whether or not 1o
weor oo sal belt,. Which of tie followinge, il true, most seriously weakens the conclusion driwn

ihowe™?

A The rate of automaobile faalities v siates that do not-have inandatory sest belt laws is vreater
thamn the vate of fatalivies in siates thist do have such s, -

13, Passengers in airplanes are required to weae seat belts during takeodts and landings.

C. Avtomobile insorance rates Jor all sutomobile owners are higher because of the'need to pay for
the inercased injuries or deaths of peaple nol wearing sean belis. .

1. Miny new cars are built with seat behs that avtomatically fasten when someone sits in the from
scal. ’ " '

During the Second World War, about 375,000 civilians dicd in the United States amd about108,000

members of the United States anned forces died overseas. On the buasis the those [igures, it can be

concluded that it was nol much more dangerous o be overseas in the armed Torces duriny the

LT™"

*

D »

) DO O

¢
=

Wi

Sceond World War than it was to stay ot hoinc as a civilian. Which of the following would reveal ¢

®

mosl clearly the absurdity of the conclusion drawn above? |
A. Expressing the difJerence belween the numbers of deaths among civilians nnd members ol the
armed lorces as o percentage of (he total nuinber of deaths

v

S
J

Comparing death rates per thousand members of vach group rather than compacing total o

B.
numbers of deaths _ ) .
¢, Counting deaths among members of the armed forees who served in the United State in addition o)
" to deaths among members of the armed forees serving overseas
ey scp;[,;'{[ing deaths caused by accidents during service in the armed forces from deaths caused by ;
combal injuries A~ .
MSS SET A ENFRANCE EXAMNINATION.20]7
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/ petense Depariment analysts worry that the obility of the United 5ics to wage 9 prafonged “h
i - 85. d b seriously endanuered il the machine-tool manufacturing basc shrinks further. Defore the
connected this securily 1ssuc with the import quota issue, however, m\_‘
1 quolas. wWhich of

in ity petitien far impor

WUU’
of the machine-1ovl indu-\'lt"_:-"s ra

| Defense e
machinc-10o

-
-
i .
9 whe following,
m:__;;mlmg nation:

pattment pubhicly
ising the

| industry raiscd
il 1eue, contributes most o
b security”?

Ihe national scenrity igsue
an explanation

pn ol

¢ f - issuc abave
f -] A ‘The Defense Depariment is only marginally concerncd with the effects of forcign compehbs
the machine-tool industry. _ )
2/ B. The machine-tool industry cnconntered difficuity m ohtaning governmental proteetion aganst
Is other than defense. o~ '
o amount of work for tool puilders,

imports on grount

¢. When the aircrolt industrics retooled, they provided a Farge _ e
D. A few weapons iinportint for defense consist of parts thal do nol reguire CXtEnsIve machining.
cost of producing rudios in
it is still cheaper for 2

is ten pereent jess than the
Jios in Country Y. The

86. The cost of producing radios in Country Q
Country Y. cven aficr wansporiation fees and tarilT charges arce added,
company 10 import radios from Country Q 10 Country Y, than to produce rat
siatements above, if truc. best suppon which ol the folowing asscrtions?
A. labor costs in Country Q are en percent helow those in Country Y.
B. the fee for transporting a radio from Country Q to Country Y is more than ten percent of the cost

= . ol manulaciuring the radio in Country Q.. .
O _dhe 1ariff on a radio imported from Countey Q to Covntry Y is less than ten percent of the cost of

v panolactring the radio in Country Y. Lo
untry Y will eliminate ten pereent of the manufacturing

D. importing radios from Country Qw Co

jr:h.\' in Countsv Y,

87. Inurease in the level of high-density lipoprotein (HDBL) in the hwnan Blomdstrem towel

bloodstream-chobesterol levels by increasing e body's capucity 1o rid itsell of exeess cholesterol.
LLI-\.-._-J}-. al 1D in the bloodstrenm ol some individuals are sigificantly incrcased by o proavrany ol

] reglar exercise s weight reduction, Which of the fuflowing e be coreeetly wilerred from the

B ' sfatements abave? B . ) ’

A Iodividuals who do pot exercise regulardy have o high risk of developing high levels ol

| : cholesterol e the bloodstream Tate i lile.
£ B. A program of regular exercise and weight reduction lowess cholesterol levels i the bluadstream

/ of sone individuals.
C. Individuals who are underweieht do not minimy risk ol develuping high levels of cholesterol in

I ”'lL' b’()[?‘d.‘ilrc'."”' -
{ D. Lxercise ; } :
v se md '-\'t'l_lglll reduction ire the most elleet .
' * ost ellective methods uf lower
. —_ . rmp PrOdsired
cholesteral tevels in hunyins, bloodsircam

L.

88, I;[:}]gi":-]frd hirip_g standards have not been the peimacy cause of the present staffing shoitage
3 l{:ﬂvclng:.(::ﬁlbr}c{‘n:i;!:;r::lﬁc Url?.mh.m? %s'prima.rii}' u:ruqu by the fact that in recent years teachers
s ot cxpet u.lh d an; lr.1‘1|'1_rm-:.mtynl.,a in '.'fforkmg conditions and their sularices have not kept pace

er professions. Which of the fallowing, if true, would most support the clains

3
) above?
] Ao M i
) - Maay teachers haveited low pa a¢ essi .
. the profession. pay and lack of professional freedom as reasons lortheir leaving

.g ;dunf.ll:;y:fjf:;:;m!:luu;rc F:llcri-llg l.huf Prfsl'c::siﬂn with a higher educational fevel than in the past.
ready in the profession would not have been hired under the new hiring

D
S5

"eu

standards,

Some feachers i i

. cachers have ¢ e cbeanele . e

: we cited higher standards Toe hiring as o reason for the current stalfing shortige.
SET A ENTHANCE ENAAINATION- 2087
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s gl
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89,

90. Even though most universities retoin the royaltics from

91. Which of the following best completes the passage below? Peuple buy prestipe when they buy a

92. When limitations were in effeet on puclcar-arms testing, people tended 1o save more ol their maoney,

22

. “electeicity determines ity Cos)
. . SUMm LN ﬂi c I Sy
that the total cnsf:lm 11‘;:'1’1 cs]‘!cciﬂﬂﬁ' during the hot S,
o zw.:p'-n the cost per umt and at other timegy, ~
s | )
C[L,‘pnﬂcd b)’ the infnnn."lllun ]!rCF--;.‘."IICLi Jl-bll-,-c"! .1-\’
i

Recent stalistics make it seem unlikely
individual consumers. Recent increascs in total
months, have sometimes been accompanicd h.)' b de
an increase. Which of the following posilions 18 hest s

e : i Jectricity and 1S cast 1y B

A7 Even though a cortr'aatinn exists Detween the otal consumption of ¢ . _ o N
consumers, no causal relation exists. -

B. The cost af cleciricity depends upon somethi ¢ !
C. It must be the case that the cost of electrieity 10 consu
consumption. o

D. Funher investigation into the way these slatistics wer

: s )
o other than the total consumption of clectricity,
o mers is what determimes the ol 8
e cathered is certainly called for. 5]
&t "
-

faculty members’ inventions, the Taculty

members retain the royalties from books and articles they write. “‘c“"‘:;c’ Hr::l]uly'_zi':llzir:] ﬂ:;glﬂ
retain the royaltics from the educational computer software lh‘-‘b’_de“"- ‘:jl’: o the argunent as an
would be more reasonaoly drawn if which of the I'O“GW_lnB were msu.-h_:_ : "L_. ‘

additional premise? T L .

F—
-

' - senal s PO s are more nearly
AL In terms of the criterin used to award royalties, -.'dt_mauu:'-:ml software programs arc morc nearly
coinparable to books and articles than to inventions. ]
B. Inventions bring more prestige to universities that do books and articles. ‘ -
C. Faculty members ate more likcly to produce educational software programs than nwcm:og
1. Royaliies from inventions are higher than rovaltics (roin educational soflwarc programs.

|

premium product. ‘They want 1o be associoted with seinething special. Mass-marketing techpiques ©
and price-reduction sirstegics should nat be ased because . :

A, expansion of the market niche 1o include a broader spectrumy of consumers will incresse profits -

B, allluent purehasers carrently represent o shrinking portion of the population ol all purchasers

C. continued sales depend directly on the matmenance ol an auca of exclusivity

1. purchasers aff premivm. products are concerned with the quality as well as with the price ol'the  __
products . . . iJ

but when nuclear-anns festing inerensed, prople lended to spend muore of their m wy. The
pereeived ticat of nuclear eatastophe. therelore, deercases the willingness of people tt:,po:slponu
consumptian for the sake of saving money. The argument above assumes that:

L -
A. most people supported the development of nuclenr arms 7 3
B. people’s pereeption of the threat of nuclear catastrophe depends on the amount of nuclear-arms,~”
lesting being done ‘3

C. the perecived threat ol puclear catastrophe has increased over the years.

D. the people who saved the most money when nuclear-afms testing was limited were the ones who S
supported such limitations
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A
B.
; C.
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. 206.
A

-

04, I'he World Autol
World,” ranking the
o that country, Tach of
WAA's ranking as a represen

). Minor swcident

95, Althoogh reeently i
wugh w sell. A
What the manulacturers lav

fTective solutio
pnnut'mn
this plan Wwou
airplancs cjuggi:
the plan
A. The majority of
600 milcs way.

3. An effective high
highways and mass

¢. One-half of all dep
city 225 miles away.

built in arcas that arc

D. Many new airpo
Lransportation Systems.

(L)
)

Cki Brnl!l‘h;
ation ©
ber of
s ol

ajfpurt Cony o provide high-spe
, 500 mites apart. The cuccessiul implewent
airports and would also reduce the nuin

ould be proponcn

he Tollowing, 1Firuc, €
dness ol thew plan?

a 1o the problem of estion 15 1
lying 200 &
anding cxisting
Which olt

between major cities
1d cost far 1ess {han cxp
1g, both airports and winvays.
above 1n0st nppmm‘iuuﬂy cite as a picee ot cvidence for the soua
from rural airpons arc

ravelers depaning Nyiny o destinations in cries aver
-speed ':,mund—tr.mspun:uiun sy siem would require majar repines o many
runsit improvements.

ning Mights in the na

(ion's husiest airport head Tor o Jestination i D major
ns are being presenily served by high-specd ground-
Drivers ol the
per inile driven

;on 10 using e

w[est und Worst
{irallic dewths
a logical object
ExXCEP:

nobile Association (WAA) publishes 2 list of the
drivers of every nstion according to the number 0
the following, if e, would by itsedf pravide
Lation of the.quality of drivees in each pation

ized countries can alTord
oped countrics. v

les of ronud

§ W mainain his or her caf in beuer

The average driver in industnial
ontin

conditinn than can the avegage driver i less devel
Some countrics contain hundreds of thousands of mi

celatively few miles of road.
The roads in some countrics are in bad rep

other countrics.
¢ that wonld cause fittle injury in many

Hhaus countries.

while otler countrics ©

air nod are therefore imare dungerous than poads in
countries are ofie: (gt when they oceur

in extrentely mownta
ing

ptroduced with o way

audiofviden receivers are proy
yfering handsome discounts,
due 1n the price of the
cemma--Which ol the

¢ of publicity; combined
the manufaeiurers keep advertising, and
o sec is that the public’s reluctanee isn’t
fundamental gquestion vl

5 a yesult,
e yett
s still debating the even more

produet: the public 1
tes the passage above?

foHowing best comple

A, whether the uses for such o product outweiph its high cost e

B. whether the product is wortl its price

¢ whether the motlels will soon become obsolele

D, whelher there is @ use far such # product \
L)

Homeowner: Re .
OWNLE: R»:;-.;:lldrops, in the value of our homes are duc to the undesirability ol livin |
- v s N - - ' e nca :
™ sl:“:"' l:;‘s depot. Transportation official: The police, not the bus de I:‘r::l "lr “Ll
als Ve i crvpre] Tagg ‘ 1 ] - : . KL
ows that most pruspective homeowners avoid the community bl:t:'{:usL t{;*lj :
it true ' S ause ol us
rue, would be the most effective rebuttal that the

¢ forward by the trsportation official?

recently opene
favlt, Survey d
high crime rate. Which ol the following,

homeowner could make to the argument pu

A. Those homeowne : i
ners whose homies are situated in the immediate area of the bus d
arel us depot must

endure consiant noise
3. The constant activi
. h aetyy u s
ivity and commerce generated by the bus depot has made Ul
! made the community 2

c 'l';ltlvurcd hangout for thicves and other eriminals
©The community's crime rate has risen ne v 3
¢ has risen nearly as quickly as the value of homes has fall
s fallen, over

“ the sanie period of time.

I). “IL‘ conmmunl v I"- hLL Eulcl’ hLLLI “L“. SCeN DN I L 41 i B » - | [ L
'I }l UL Al wlhi noanat ‘ AT h:' 1
-
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g7. Plant Y thrives in environments of p
environment with constant, powerful sunlight, and al
the arcas surrounding Desert X,
when introduced there. Which of the following,

apparcnt discrepancy above? P

A. Plam Y cannot survive in temperatures as high o
B. The environment around Desert X is ideally suited 1o the
C. For one week in the [ull, Desert X gets consistent cainfall. ) , )
D. Desert X's climatce is far too horsh for the animals that normally feed on Plant Y.

98. It has been against the law for federal agencies and federal contractor
quadified job applicant because of a disability. Now that Congress has,

expand these existing provisions lo cover private industry
who are involuntarily unemployed will drop substantially.
be assuming which of the following?

24

i itle isture, Desert Xy ay
al s and very little mo | ‘

cal hlllillghl y ‘."“hﬂ”!—;h FL“H l;.l' ”:FIVCF. in
nor Joes it survive lony
| in explaining the

most no moisture.
in the Jeser,

] s not exist naturally
Fihe 1 jost usefu

if true, would be n

. those normally found in Desert X1

needs of Plant V.

as well, the nun

es private industry.

A. The fcderal government currently employs more disabled people Ilf;m do L _ '
B. Some piivate cmployers in the past deliberately chose not 10 hire qualificd but disabled job

applicants. . o *
he new legislation to prevent discrimination against

C. Many congressmen were reluctant fo pass |

the disabled. ) . _
D. The approved legistation would stop diserimination against the disabled in the public and private

sectors.

99, The manufacturer. of DTF claime its produet reduees facial wrinkles anid wishes 1o sell it as a

pharmaceutical. The Food and Drug Administration (FDA), however, has ordered lengthy and costly

experiments to detzpmine whether DTF truly reduces facial weinkles, The manufecturer, a simall
cosmetics fiom, lacks the resources (o corry out the required research aud will probably comply with

fess rigorous FRDA regulations by lubeling DTF a cosmctic. Which ol the following can be most

reasomably inlcred Trom the statemens above?

A. Only established pharmacemical lioms have the capital required

o enter pew products in the
market. ' . ’

B. The TDA regulates claims mide about pharmaceuticals more strictly than claims made about
casmelics.

C. Cosmetics are among the products not regulated by the FDA.

D. The m:tkcrsinl TE thought they would sell gremer quantities of their product if it were 2

pharmaceutigal rather than a cosmetic,

. . .
100.  “The population increase over a given year is always culeulated us a percentage of the previous

e

MS5 ’ SET A

y:;.-nr's popnl;ltiefu, with a population decrease being recorded ay i negative increase. In 1990 Essex
(:onnly':md Union t.m.mty both experienced a populition increase of more than 3 percent, In 1991
!:sgcx Couuty and U_mun County boih experienced a population increase of 1.5 percent. In 1992
‘I;J(;;o!r:]fmmty experienced a negative inerease in population of -1.7 pereent, Essex County had
A09,100residents in 1990 and 209,000 residents’ in 1992, 11 the inf; i e is ac i

: 000 « . » information : is avcurale :
o the following amust be e wivn above is accurale, which

A. In 1992 morc people moved fi ion C :
! :d from Union County 10 Essex Coumty tha | :
! - V b1 a0 IMOVE -
County to Union Coumy, g M e from Bssex
3. Both cotimtics experienced negative population increases in the years 1990 and 199) yet both
expuricpeed positive population increases in 1992, '
C.Both counties experienced positive population increases in the years 1990 and 199} yel buth
experienced negative population increases in 1992, '
ENTRANCE EXAMINATION-2017

< 1o disceiminate against i
approved legislation 1o
wber of disabled people
The author of the above argument musl
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1. Although St
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23
. In 1990 there were pore people living in Union County than in fFssex County, but in 1992 thert
' fiving in Essex County than in Union County.

were mere people
of refugees

wses put the pumber
pative tand

arc inexact, edweated gue
erwhelming majority prefer 1o retum 10 their
of refugees from Afghanistan arc suflicient prool:
y, very few have applied
then the argnment

atistics and delinions
[ over 10 million. Ihe oy
The millions
ting, have taken on their counti
if true, would maoest sireis

at wel
cute Lo 4 loreign one.
11 the watr and snbsequent figh
ate. Which of the following,

worldwide
than to CiNige
Pespite the 10
for pennission 10 cige

abowve?
oppression rather than

A. The refugees from Afghanistin fled what they considered political

cconomic disuster.
B. Alhough refugees llee their homes for
arc looking for improved living condilions. . -
C. Most refugees are us reluctant 10 emigrate as arce the refugees from A fohanistan.
1. Most of the children born o refugees preferto remain in their adoptive couniry rather than return

1o the 1and their parents left.

a variety of diffcrent reasens, the ovenvhelming majority

passed banning midiown sireet vendors from selling food within
b theic high rens and ¢osts, restourants cannol be expeeted (0

nere these vendors sell food completely different from
h 10 atiract 10 the vendars customers who
: if true, wonkd most wuaken

102.  Chel: An ordinance ought to be
a cenain proximity o restaurants. Wit
comnpete with the vendors, Even in cases w
(e restaurant’s bill of fare, the price diffcrential is enoug
would otherwise have caten jo the tesuIants. Which of the following,

the arpnment above?  hitps:/Www jamiastudy.com
A. Muost sweet vendors who sell food would sulfer losses Lrom-being farced 0 move 1o other

loeations,
and do net pay lor thetr owi

1. Must custamers who cat in imidtown G0 50 0N Expense accounts,

muitls.
¢ The fod served in midtown resturmts is better thim that sold by street venduars,
1. There are nol cnogh pulic-.: allicers o enforee tcn_;uluiiuns- rct';uirh'ug streel, veidors 1o move o
certain distance from restaurmis ' :

v o entively anderlined Below cach

ConpviNt g NenRleneey that are vither par
Read the semtence and the fnm‘

Questions 103-112
vl portion of the sentence

sentenee are fonr versions of the nnelerling
crives carcfidl 1 wnrel select thie bestyersion

3. Each of Johnson’s children_— Cedric, Ethan and Selepa —  were weak and incffectual, very

dilTerent from the great man himsclf.

A S letee S - .

B jc:uijnr:::nla“lll:]h;"t: bcl%}i‘dﬁ- each ol themn Johnson's children — were weak and incffectul

¢ I:'.:u.'h-ul' I.::-ImIm:‘ ‘I T‘mL-”c. bfhnn‘ um_i Selena -- were @l weak and inefTectwal .~

b, Weak and e ‘. S ‘3 Lk ren — Ct:dl‘w,_l.-.t_him and Selena -- were weak and incfTectual

cak and ucflectual chitdren -- Cedeic, Ethan and Selena - cach a child of Johnson’s, was

Ed, Child psye i lieve ) [
CXPICSSCS li;;{::‘f:;‘{l;‘:;i:lﬁ'l‘:::c "II:‘L:T!"‘ child grows, their range of emotions and the way the
j’; tz:;lcllluill:flli-u!"ihnl when a child grows, his of her
‘ . at a3 u child grows, their
C. Uelieve than as children grow, their
D hold the beliel Wi when children grow, their -~

Msg
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' . e ekl xl in cooperation.
ideas.their advantage is_preater in the workplace in skills involved m con

26

f" on surlace Tor he fin
i . s chosen surlace for the fiy
il . ¢ the ¢
4 105.  "The 1ennis commitiee has finally decided that grass ‘:r; *t:l \
o - . : . - wio vears ago. )
"- competition, like thar when Austealia Jost to Franec (Wo 3 = 2
. AL as that for Australia’s loss - -— B
. B. as it was when Australia lost & - 6
:1 C: like that when Australia lost
- D. just as when Ausiratia lost -
. . sether and exchange
. s business students work toge ;
106.  Dr. Wilson's rescarch has shown that the more business

) s Lille i operalion
A. their advaniage is the greater in the workplace in hkf“-“ ”“‘“I"_””E' co c‘:mim]
B. their advantage is greater in the workplace in sk:l!s m\'nh‘cfl lﬂhC““‘P volace
C. in skills involved in cooperation, their advontage is greater lit the wor ’:nn ~a
D. the greater their advantage in the workplace in skills involving eooperati
. . . ¢ scems like it
H17. Though not all the economists are in agreement. the valuation of the July contracts scems like it )
is indigative that it may be a good time sell the inaturity. g
AL asifo indicate
3. to indicate that =~ | -
C. likc it is indicative that .
D. indicative of 3
108.  OF all the mentlly ill patients hospitalized in the Raymond Institute, the mind of the °J
ps¥chopibic paticnt is mavhe the more ditficult Jor analviis,
AL is prabably the nmore difTicull 1o analyze —
B.is maybe the more ditTicult for analysis ’
C. s probably the most diflicult 1o analyze -~ 3
D. is maybe the most JilTiculy for analysisy
109, Dr. Canningham bcl_l::}u.-d that the CI'S |L"J-'.l|l?‘ll._'lll would appear the same o someone receivine g -
placcho as i person rcceving an actual course o lreatment. = -
| :
A. pliceboasa :
' 3. placeboastoa ;
C, placebo; as it would to the .
D. placebo; just os it would 1o a -
110, Ah.huugh he dealt with a number ot S|n11:I:|r cuses while being o lawyer, Judee Gutterman had yer
1o preside over an embezzlement casc, certaimly not one as complex as the ease ot hand, 3
A, usa lnwyer - . S
B. at the time ofhis being o lawyer O
C. while in low
D. while being a lawyer . a
".-'-‘. N o
J
MSS -
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("t Milttary seeurity P‘-"'S'“""QI olTicers, being worned ovee leaks of mititary_information through
c decided 1o look beyond the solutions currently in use.

intcrnet usc, hav

A. worried about leaks of military information through inlemctuse
- p. warrying over leaks ol military information throusMinteret use

" being worried over lcaks of military information through internet vse

0. in that they were worricd over Teaks of military infonnation through the use ol

-

ihe mermet

rv, a company must be international, achieve it

aboult technical
1 nboul Joe i

r in the computer indust
secure infornation

112, To be a leading produce
le production possible, and

wirnover that makes cilicient large-sce

advances.

A. and sccuring information about technical advances
n_ and securc information of how 1o eehmically advanee
¢ and sccure information about technical advances

N. while secure information about technical advances

Answer questions 113-118 on the basis of e pussage given helow

Passage |

Archacology as a profession lace
swns are available for excavating
excavated. Yet archacologists deal w

SNHes onee
problem of illepal cxcavation, resulting in museunm=quality pic |
vestinn that would at one stroke provide funds for archacology

I would like (o tuke an oulrpcous Sug _
and Feduee the amount of itlegal digging, T would propass i seientilic archeological expeditions and
governmental amhorities sell excavated artiliiels va the open market, Such sales would  provide
substintial lunds Tor the excavation and preservation of archacological sites and (he publication of
results. AL the samu time. they would hieak the e ercavator's grip on the market, theiehy
decreasing the inducement 1o engage i illegal activities.
Yon might object that prolessionuls eseavate 1o acquire knowle
i1 of owr global coltural heritage, which should be pvpila
to the highest hidder. | agree. Sell nothing et T unigue artistic nert oF seientilic value, But, you
might reply, everylling that comes oul of the ground has seientihe valve, Here we part conipiny.
‘Theorctitally, you may be corred in climing that every artifact has polential seientilie value,
l’n:scliu;nl}y, you (e WIOng.
I sefer to the thousinds of potlery VEsst
another. I one sniil) excvation in Cyprus,
indistinguishable stall jups in 2 single cowrtyard,
:r.!‘n,'ifc.‘ﬁh handles hn‘vc been found in .:1Inmduncc---nwru than 4,000 cxamples sa lar.
(lj'hc b:u:c:Ff:ntI:!; Ui' muscyl‘:lns are sinply mln large cnough to store the artilacts that are likely to be
iscovered in the [uture, There is not crouph muncy cve i e Gnds: as a res
be fonnd again and become as in:mws:s?blﬁ :muilrrlhi; h:l:i I:;:::l-“:“?m ;!‘-L-h"dh. as a cesul l_huy canno
ol # computer, sokd atifacts could be I'I'l‘.:lrc.i'l.l.il.'c‘ﬁillk.'t than -'::.-):ie{] ['I?m?cmd' ln'dc':d"ﬂ'?”h the belp
bascments. Prior (o sale, cach could be hotogra I‘u‘:d o ;] ‘ [L e 111-.,(:(:.? stored in bulging :.nus'.:':um
on the computer A mn:h'wcr could even be -p el 10 0 ist of th purchascrs cauld be maintained
sler A - even be required (o agree to retur the picee if it should become
necded for scientific purposcs.
It would be unrcalistic to suggest that illegal digging would stop il artifacts were sold”on the open
market. But the demand for the clandestine product would be substantially redue
unparked pot=swhen another was a atlable R, ally reduced. Who would want an
P pe ot vailable whose provenance was known, and that w livted
stratigraphically by the professional archacologist wha excavated i’ as known, and that was Qe
: o excivated in?

s two nijor problems. First, it is the poorest of the poor. Only paliry
and cven less is available for publishing the resulls and preserving the
ith priccless objecls every day. Secand, there is the
ces beingsold 1o the highest bidder.

dge. not money. Moteoves, ancienl
st faets are ble for all to appreciate, nol soldd

s and ancient lamps that are essentially dupliciles of onc
archacologists recently uncovercd 2.000 virtually
Liven precious royal seal impressions known as

MSS e
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The : = wcale artifacts on iHe
'he Author'y érgunIenl concerning the effect ol the oflicial salc of dupli ey,

CXCavalion iy ) . S
‘ 1 15 based o whie] of the following assumptions:

A

- The price pf+ ny
he Price pj s‘”Cg;ij eXeoyated artifacts would rise.

o Mol CXCavalorsawmg he fareed fo sell only duplicate artifacts.

L.

I*
ospective Purchasers woyl preler 1o buy authenticated adifacls.

D. Coy _— :
Computers conlg be used 19 trace sold artifacts.

4. The ; : licate artifacts are fruc
" ‘“"h('il_' m ]' y . . AAlCIneiLs ﬂhUUI dUP cale .
N 105 thy » following  stucmcenl:
IXCEPT- P a all of the B
A. Su HE
A SUC:I m‘:f;.'lcis Seldom hae seientific value. collection
. cha ‘s . . I - d in muscum :
C. A nnri_r l el rmq”'?“”)’ exceed in quality than those alrcady calalogucd in mus ’
. arae I .
D. There ; :'l”rﬂ'dldmﬁcls already exists.
s hkely1p hcauc.unm.mg supply of such artifacts .
115, The . . ' ) . A7 e .
P cBthor mentions e excavation in Cypris  to  emphasize  which ol the
0|Im\mlg poing?
AL Anil; ol . . . fete
i3 ,\_rli;:s[ls thatare very similar 10 cach other present eataloguing difficultics to archacologists,
: 0 11;;“; that are pgy umquely valuable, and therefore could be sold, are available in larae
i es.
C. Ancient lympe "
-  famps g Poucry vesscls are less valuable, although more rare, than royal scal
Impressiong.
D, Cyprug is the mee . .. -, . -
PSS the most impagang ocation for uncarthing large quantities of salable arctifacts, -
116, “The primary pyer R '
CPIUNAY Pt O the possige is 1 prepose
AL he governmentat - .
13 .”]L_:]'lwt'! mental egulation of archicologicnl sites -
(~‘ :l “:'iy l::'”r"? !“ ey, display of artifacts —-
[ P+ . Clr [ . . Ter- . - r
D. 1 way o [“:If '”"}-'"’d'ggmg while beneliting the archacological profession L
- 8 A . ;nrj . - . B = . - -
. BOISh aniyers witl) scientilic vadue from these that have a such vathe 3
1175 Which o the ol T
olwing 3e mentioned . : . . )
muscum basemens? YiIng 3s mentioned in the Jrssage as o tir,-.m.lvumugc of storing artifhets in U
AL ARG discovered ¢ . . g
8. Such "J'li;' -"Uf\’uud I one excavation ollen becoe separited from eagh other.,
- IS olfien remain: uncaatogied amd thus cannot be locaded once they are put in
: ) ! )
C. Space iy ¢ . . . . . )
D N:uw"n: : ﬁf’“,[d be beter ygey for display is taken up for storage. .-
' hetals mrely J1ow scholars aceess 1o such artifncts. ,
HB. The author angiein. . . S, . . s
A Artifrs l;nr[n:scumtcs which ol the following initial objections to the adoption ol his proposal? J
B. An over, : I‘ Yould have bheen displayed in public places will be sold (o private collectors, 3
C. Muscum ?F!Ors"_'"blc artifacts will result and the demand for them will fall. .
D. llegal M: V"""'Is Wil becamne unwilling to store adtifacts. 3
AVAOrS will hyve an even larger supply ol artifucts for resale, a
. J
J
3
MAs . . ; i
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estions 119-124 o1 the husis of the passoge gvel below
. He !
Auswer

: : 2 " - viliely ~ A Ju
Y (e stimulant in coffee, has heen called “the must widely used psychoac
(:'-I.ﬂl:”“:| .

Tl e o oier By countering the
s recently «1 that ealfeine aifcets bebavior hy ce
farth.” g‘hmd-.:r‘biﬂ';.' amdT¥runs have recently pmp:(:-hullllht | n.ﬂ 4 adenosine Adenosine normally
ity : [ 4 paturally accurring chenicid = : sme, A e of
ity i the human brain of 3 ‘ _ 4 € ¢ e he relse
Mnny-u‘ acuron Tiring i malny areis of the brain, It appatently docs this by inhibitng
ML chemicals that carry nerve impulses (rom vac nenran to the next.

ive suhstance on

nunutrnnmniltcrs,

" . . ¥ .y . —— I‘
+ o many other agents that aflect neuron finng, adenosine must fu-st ".‘f“’ 1o ap-,ulru;ltr:lu.:ﬂ‘irj :1
el b s ‘There are at east two clusses of these receplors, which lmv(E heen g 0
m:umnzﬂ'l f;“ﬂ;::{"% prnposé thant ealfcine. which is steucturally similar 1o adenosing, s able l.c:_ :::[‘“-L
rll:::hﬂtyiwc::af'urc-.:c;mrs, which prevents adenosine from attaching there and allows the neurons
. readily than they olhenvise would. | L
'.;;‘::anny -yc:‘-rs, catleine's effecis have been atributed ll:l ils ‘H]lemi{;'c VA e o
.;.hosphmﬁcsl crase, an cnzyme that breaks down 'l'm: ullu:f'mcnl ::13 Ldf} *{l'onq b et mowrons.
pedrolransnters exert their effects by first inereasing l:}'C'l'It: AML Cm'm;unht;]+l 1,;<-.'Unhl e
‘Therefore, piolonged peniods it e clevated conceniralions, ne :mg;_{_ :,' .”.,d' Zomuqm,_.,lv\ :
phosphodicsterase inhibitor, could lcad o a greaer amount L_ﬂ neurun lfll:lc_ ‘ _._.d o .m '”;h',bil o
' | | | o1 et al poi : . ealfeine concentrabions heede _
behavioral stimulation, But Sayder et al point vul that the ¢ | - ey 1 mulation
production of phosphadiesierase the brain are much higher than thm.c_ “m:- pii s
Mozeovir, other compounds that block phu:,phud:u:‘.tcrusc's activity afe not stimulants.

of the production of

‘To hulttiess their case that caffeine acls tostead by pre=vening ;u'.x_:lmuﬁi‘nF binding, Bn_\-‘.h.;lf‘u\ '..t.l v u::z.::l:i
the stimulatory effects of 3 serics of calleine derivatives with their ::J.?tluy o disladae w T}Th”tl o .;1
receptors in the brains of mice. "In gencral ™ they ceported, "the _nbﬂtly of the cn.w.;p}nl:m;- -I}1l' ._'. ‘-,. um;”
the receptors correlates With fheir abilily 1o stimulate locomotivn W the mausey L.t \.I'i_,l-‘l-ﬂ..l o
capacity 1o bind at the reeepturs, the higher their ability 1o stimulate iufcmnouum ‘l_1‘1upph}ll|.nt, a close
struetural relative of eatTeine and the Major stimnlnl 1y dci, wits ane of the mos eflective compuunds 1
bath resards,

There were some apjrient esceptions o ihe gensant correlation ohserved between adenosine-receplor
bisnling and stimulation. Oie af these was a compound called3-isoliny - L-methy Ixanthine UBMXNY,
whicli bound very well butactually depressed mouse focomation. Snyderet al suggests tit this is not
majur stumbling block w their hypothesis. The problem is that the compaound has mised effects in the
hrain, 3 not unusual veeurrence with psycho setve drugs. Even calleine, which is generally known anly
for its stimulatory clleats, displays this propenty. depressing mouse  lucomotion at very  low
concentrations and stimuliting i al higher ones.

139, ‘The suthor guotes Snyder et ol in Ih];}-:!;_p;‘:!-';l:gruph most probubly it order 1o

indicate that their experiments resulled only in peneral correlations
reveal some of the assumptions underlying their theory

51:1;.1mnrizu amajor fnding of their experiments .

point out (hat their experiments weee limited 10 the mouse

o>

120. esponse 1o exper es j
.Iu response (0 experimental results concerning 1BMX, Sayder et ol contended that it is not
uncomumon for psychoactive drgs to have

M.
‘. 13
C.
.

mhibitory effects on enzymes in the brain
dc_pw::s-l ve cHects o mouse focumotion
mied effects in the broin « -

close structural refationships with catfeine

M55 S -
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a0

- . - a --ITL\
iters i L denosine in that cafle
121.  Accordine so Snyder et al, culTeine dilters from adenosin

i et
i has only @ stimulatory eftee
A. s mixcd cllits in the hrain, Wheton denatic has Ulll:d yosine FECCplurs, whercas adenosing
B. penmits release of peurolransminiers when it is bound to adeliEs .

inhibits such release
C. stimulutes behavior in"the mouse and in humans, W
humans only v : 1
. increases L':\'CHC AMP concenirations in gel neurons. whereas

hereis adenosine stimulatds behaviar gy,

adenosine decreases such

4

G|
Q
®

A

concentrations

122, The primary purpose af the passaze is Lo

and reconcile the differences between llu’.fm .
idence and arguments that support i

deseribe an allernative ||>-pg1l'||c§.i_~; and prm-idc oV . 5
a phenomenon that is nol yet fully understoac ‘
iird theory that avercomes the problems encountered in

. present two explanations of o pheaoimenon

A
B.
C. discuss a plan for investigation of
D

. summarize two theories and suggest 2 1l
the hirst two

123, Snvder et al suggest that safTeine’s ahility 1o hind to Al and A2 receptors can be at least partially

atiributed to which of the following?

A. The ahility of caffeine to stimulate behavior 7
3. The chemical relationship between caffeine and phosphuodiesterase
C. ‘The structural refationship between caffeine and adenosine
- 1. ‘The stroctural similarity between calfeine and P 2uroleansImitters
§124.  According to Sayder ct o1, all of the following componnds can bind to specific reeeptors m the

~ brain EXCEPT

A. Catfeine _
. B, phosphodicstcrase »

C. IBMX
I}, Adenosinc

Read questions 1 25-136 carefully and select the word tirat i most similar or dissimilar in meaning fo
the word provided: o
125.  CAUTIOUS is most dissimilar to

A. Careful

B. reckless -

C. Reasonable
D. lllogical -

126. ACUTE is most dissimnilar to
A. Relevant
B. Dull

C. Conspicuous ~
DL Alool.
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§27. DELIRIOUS is most similar o

A. Calm

3. suspicious R
(. Manic ~

D Tasty

128.  AMIABLE ismost dissimilar (o

A, Insulted
B, unfriendly~
(.. Faithlul
D. Diswsteful

129, LURE is most simitar to

AL suspect
1. Tickle
C. Decoy
). Resist

130.  RECANTs most dissimilar ©

AL Rectily
B. ignorc
—ATTAGIm

D. Offend

135,  PERILOUS is most dissimilar to

7 Safe
3. Similar
C. Disciplined
D. llonesl

132, 1SOLATION is most similar (o

— A. Solitude
3. Plentitude
C. Fear
N. discase

133.  PUNCTUAL is most dissimilar (o

A. precious
B, Close

L= Tardy

U: Sloppy -+

~ -

MSS
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134.  INFIRM ismnost similar o

A. fortiude
B. Hospital

—C. Weak - -
D. Shon
135.  OUTTEIY is most similar to

A. Strong -
—B. furmish

C. Indoors

12, Specinl

136.  1.ULL is most similar o

A. Noise

B. mark

C. Pausc
_. Boring

137.  Seasonal nnemployment refees to

A. Banks

. Private Scelor
& Agriculure v

D. Public Sccior

Yad
L]

138.  Which ol the following slates is highly fleod prone as well as drought prone ?

A, Bihir -
3. Madhya Pradesh
€. Ultar Pradesh
D, West Bengal

139, The Yellow Stlone National Park #5 in

A. Trance

B. Maldives
__C. US AT
" D. China

140.  Where is the National Remote Sensing Agency situined?

Dehradun
Shadnagar
Bangalore
Chennui

SOoF>
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i The cquuu'-.r passes throuuit which of the Tollowing, continents?
14 ) S
A Austridia
B. North Amenca
o fricn =" =
D, Fuope

142, Ashok pandit 18 known for his ontstanding performance in which of1he following?

s Shooting

. Wresthng

C. Swimming

. Kabaddi

iy of ndia?

143, Which ol the Collowing citics is known as 1lcetronic €

A 'l".:.'dcr:l.'l'l:u'-
15 Vanpalore -

C. Mumbai

D, Gurgaon

\ .
144, The frst underground carlway i Indian Was opened v 1984 in

A . Bangalore
3. Mumbai

L/l':._ Kolkaw
D

D, Chennat

145, Who wrotc | dragons Sced?

A Shakespcarc
13, Kcats

_~C. Pearl 5. Buck ~
D, Shelley

146.  The Paratroopets Iraining School of the Indian Air Forec. is located A

AL Puncs .

B. Deheadun '
£, Apra |
D. Nasik

147.  Who was the first (ndjan 1o go into space?
A, Ravi Malhowra
" 13. Rakesh Sharma -

C. Satish Dhowan
0. Nonc of these

M55 \gs
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148.  Bismillah Khanis associated with

A, Shehpai
3. Flute
C, Sarod .
1. Tabk

jtion in India 7

S £ - * “.‘0“
149, Which of the following personalilies inspired Green Re

M S, Swaminathan 7 )
3. K.M. Pamkkar -
C. N1 Dorlaug _ :
. R.A. Kidwoi ' )
150.  Which of the following is a violin player? s
A. Mallikarjun Mansur
_--B. Nornc of these ) )
C. V.CoJug .
D. Nariprasad Chaurasia
151, The famous l\iccnn!-:;hi-l@mplc_i.sin -
A. Gojaral -
_~"B. Famil Nadu o -
C. Maharashira : ' : ~n
D. Orissa
152.  The headquarters of the National Power Training Institute is Jocated in
* A. Bhopal .
B. Lucknow ;
* C. Pandabad ;
D. Hyderahad 9
1533, Guru Gopinath was an exponent of -
—A. Kathakali
B. Bharatnatyin
C. Kuchipudi 3
D. Kathak .
P
154. The Indian Instituie of Science is located at o)
A. Madras . D
1. Bangalore »~ )
C. New Delhi Q9
D. Kharagpur o
< - .
oy
sl
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sz, Kishori Amoaokar is famous in which of the following ficlds?
5

A. Social service

g. Film acting -
_~C. Music

. Dance

156. The world famous Ajanta caves afc stuated in the state of

A. Kamnataka

3. Madhya Pradesh
(. Muharashtra «
D, Orissa

157.  Who among the Following was the first womai Chief Justice of 2 1}igh Court ?

A. Syata Manohar

3. Rani Jethmalani
—C. LeilaSeth v

1. Geeta Mukherjee

158. Who reccives Dronacharya Award?

1. Sports Couches v~
R. Muovic actors
(. Scientists
[>. Sportsmen

i159.  Which among the following ranks in Indian Air Foree is the highest 7

A. Squadron Leader

B. Flying Officer
——(". Air Commodore ¥~

D. Wing Commander

160, The first English newspaper in India was started by

A Lord William Bentinck
.15 Dpdabhai Naoroji v
~ J.A- Hickey
. Rabmdranath Tagore

161, In which year India Joined the United Nations?
A, 1957
B. 1954 v
C. 1955
D. 1956 )
M55
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. . - eetric cureent?
162, Who discovered magnetic ficld of clectne
A, Ldison
N AT Ampere _
C. Faraday o< - -
7. Fleming -
partioment?

. . bt - Brinsh
163, Who was the liest Indion 10 be-cleeted to the Ur

A.  Mothilal Nehru

B. Gopalakrishna Gokbale
_ . Padabhai Naoroji

0.  Mahatma Gondhi

. e e 1 rhe <ie of the hole will
164. A hole is made in a brass plate and 115 heated. ‘The size ol the

A, decrease v
B. remain unchanged
C. first increase and then decreasce
D. increase
165. The Panchayat Rajisa
A, Two-ticr Sysiem
B Three-ticr System
. One-tier System

C.
D. Four=ticr Systen

166.  Fleadquariers of Amnesty Iniernational is at

. A. Berlin
B. New Yark
x_',-c‘ l_tmdr.m v
n.  Washinglon
167. Which country leads in the production of rubber?
A, India o
B. Malaysia 7
UL Australia
1. Myanmar
168. Which is the most irrigaled State in India? )
A.  Andhra Pradesh C
B. Bilmr v/ __
Punjob C
D, Uuar Pradesh )
(S
169. Which of the following animals was not native to India ? ()
A.  Tiger R .
" B, Liephant Q
- X_~C. Horse « .
D. Rhinoceros ¢
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(70, 1ays and Nights arc equal thraughout the ¢ .
A FEquator = 1e globe when the sun s ubove
3. Tropic ol cancer

C. Tules

p. ‘Tropicof Capricorn
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